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Pensieve header: The R-matrix cR for the classical algebra, plus x and y scattering for cR.

Startup

SetDirectory["C:\\drorbn\\AcademicPensieve\\Projects\\FullDoPeGDO"] ;
Once["<< KnotTheory™ "];

<< "../Profile/Profile.m";

<< "Engine.m";

<< "Objects.m";

<< "KT.m";

$k =0; ¥ =1;

HL[& ] := Style[&, Background - If[TrueQes, [, I11;

This is Profile.m of http://www.drorbn.net/AcademicPensieve/Projects/Profile/.

This version: April 2020. Original version: July 1994.

Timing@HL[ (R1,2 Re,3Ra,s // dmy g,1 dmy 4,5 dM3 5,3 ) = (Ra,3R1,4Rs,6 // dMy 5,0 dmy g, dM3 4,3) ]
{6.6875, True}
Timing@HL[ (R1,2 Re,3Ra,5 // €My 6,1 €My 4,5 €M3 5,3 ) = (Ry,3R1,4Rs,6 // €My 5,1 €My g, CM3 4,3) ]

{1.96875, ha2b1+ha3 (b1+b2) +hX2y1+f1 (flb2+B2) X3y1+ﬁB1X3y2 ==
ha2b1+ha3 (b1+b2) +f1X2y1+hX3y1+lelX3y2}

Ri,;

E(j5¢i,j) [ agb; + AXjyi]

B;-1

CRi i 1= Egyagi,i) [ﬁ a;b; + X; yi]

i

Timing@HL [ (cRy,, CRg,3 CR4,5 // €My 6,1 €My 4,5 CM3 5,3) = (CR3,3CRy 4 CRs ¢ // €My 5,3 €My 6,5 CM3 4,3) ]
(2.67188, True)
E(ysq1,23 [AX1] CRy,5 /7 €my i1 €My 550

(-1+B1) X2 y1

E{}Q{l)z} ha2b1+)\xl—)k(—1+81) Xy — "
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X scattering:

in[-]:= lhs = Coefficient[E ,i,4; [AX:] CRia, 41 // €My 33,5 €My 41,9 // First, A]
rhs = Coefficient [E(ygi,j3 [A (X3 + (1 -B3) X5) 1 €Ryg 41 /7 €Myy 5,5 CMya 5,5 // First, 1]
HL[1lhs == rhs]

Out[«]=

X; - (-1 +By) X5
Out[«]=

Xi - (-1 +Bjy) X5
Out[]=

True

in[-]:= lhs = Coefficient[E,i,4; [AX5] CRia 41 // €My 33,5 €My 41,5 // First, A]
rhs = Coefficient [E(y (i, 43 [ABsi X451 CRya 41 // €Myq i,5 €Myy 4,9 // First, A]
HL[1lhs == rhs]

Out[«]=
Bi X5
Out[«]=
Bi X5
Out[]=
True
y scattering:

in[-1:= lhs = Coefficient [E(y-gi,j3 [AYi] €Rig 51 /7 €my 51,5 €My 41,5 7/ First, 2]
rhs = Coefficient[E (i 43 [AYi] CRia, 41 // €Myq 3,5 €Myy 5,5 // First, A]
HL[1lhs == rhs]

Out[e]=

Yi
out[-]=

Yi
Oout[-]=

True
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in[-]:= lhs = Coefficient[E ,,i,4; [AY5] CRia, 41 // €My 31,5 €My 41,5 // First, A]
rhs =
.. 1 . bj 1
Coefficient [E(y,¢i,j) [X (# Vi +Bi'y5) ] CRix, 51 /7 CMig s, cmyy 5,5 // First, A] /. u > — (1-B;')
i

HL[Simplify[lhs == rhs]]

Out[e]=
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bi Bl
Out[«]=

True

Verifying YB:

nf-1= Ry ,5 [&] = Expand[& /. {
Xi = Xi + (1—31) Xj,
Xj—)Bl'Xj,
Yi =2 VYis

b;
yJ - b— (1 - B;l) yi+ B;l y]

N

in[-1:= 1hs = {X1, X2, X35 Y15 Y25 Y3} // R1,2 // R1,3// Ra,3
rhs = {X1, X25 X35 Y15 Y25 Y3} // Ra,3 // Ru,3// R
HL[1lhs == rhs]

Out[«]=
{X1+X2—B1X2+X3—B1X3: By Xz + By X3 - B1 By X3, By By X3,
by: bay:s y» bsys bzy:r bsy, bz y, VE]
Y1, - > - + - + }
b]_ bl B]_ B]_ b]_ bl Bl bz B]_ bz B1 B2 B]_ Bz
Out[]=
{X1+X2*31X2+X3*31X3; B1 X3 + By X3 - B1 By X3, B1 By X3,
byi bay:s y2 bsyr bzy:s bsys b3 y2 y3
Y1, - > - + - + }
by b; By Bs by b;By b;B; b;B;B, BB,
Out[e]=
True
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